SHOCK INSTALLATION

ITEMS ORDERED SEPARATELY, SHIPPED LOOSE

UPPER SHOCK BOLT
(SEE TORQUE CHART)

P/N S—27742-2 FOR 1488 CU. IN. OR 2800 CU. IN. TANK, (43" & 44" I-BEAM CENTERS) — SN
‘ 3. STINGER:
@/ S$-27028—1 23.75 INCH (SHOWN PAGE 2) 2 B 0
4. SLIDER LOCATING BAR: ® ® ® ® ofe ® °© T
LOGK NUT #?GWH":TFENSHB%C? UBSTL‘TL +LOCATING BAR NOT AVAILABLE FROM HENDRICKSON* I I i
SHEAR HEAD SEPARATES I e ° Ou °
o o T
NOTES:
1. SEE L—341 INTRAAX® INSTALLATION INSTRUCTIONS FOR o o (17.6)
INFORMATION ON ASSEMBLY, WELDING PROCEDURE, AND ALIGNMENT. NN %S?PR\NGS
2. SEE SERVICE MANUAL FOR INFORMATION CONCERNING MAINTENANCE PROCEDURE. Sl o e 0 L
IMPORTANT ! 3. SEE L—-1182 FOR HEIGHT CONTROL KIT OPTIONS. i : ! i M
BOLT KIT INCLUDES TWO HARDENED WASHERS PER 4. DO NOT WELD ON AXLE TUBE. o| © o © N
SHOCK WHICH MUST BE POSITIONED AS SHOWN. 5. DO NOT WELD ON SLIDER BOX . Hﬂm ° C 5
THESE WASHERS ARE NON—STANDARD WASHERS WITH 6. MANUFACTURED UNDER ONE OR MORE OF THE FOLLOWING PATENTS: | | /7 —
TIGHTER TOLERANCED HOLES, DO NOT SUBSTITUTE OTHER PATENTS PENDING U.S. PATENT NOS. — 5,366,237 — 4,166,640 N .. ﬁb : ® ® °
STANDARD WASHERS FOR THESE PARTS. DO NOT ROUTE ITEMS THROUGH THIS AREA FOR 9.0 INCH AND LOWER RIDE HEIGHTS 0 o %
DUE TO MINIMAL BEAM TO FRAME CLEARANCE. i I
s o o o
I H [ b
CLEARANCE SPECIFICATIONS: d © hd © ejle © ©
DESCRIPTIE(I\?ROUE SPEC/FICATQ%QIS TORQUE (FT-LB a) 1.0 INCH MINIMUM CLEARANCE REQUIRED BETWEEN TOP OF TIRE )
(FT-LB) AND BOTTOM OF TRAILER STRUCTURE WHEN AXLE IS AT FULL = =
SHOCK BOLT, UPPER 3/4-10 210-235 JOUNCE.
SHOCK BOLT, LOWER 3/4-10 210-235 b) 2.0 INCHES MINIMUM CLEARANCE REQUIRED BETWEEN INSIDE OF ‘
TIRE AND TRAILER STRUCTURE FOR TIRE AND LATERAL MOVEMENT.
AIR SPRING NUTS, UPPER 3/4-16 80—100
c) .75 INCH MINIMUM CLEARANCE MUST BE MAINTAINED AROUND AR
AIR_SPRING NUT, LOWER 1/2-13 55-60 SPRING WHEN IT IS AT MAXIMUM DIAMETER.
S—CAM BEARING BOLTS 3/8-16 35-45
BRAKE CHAMBER MTG. NUTS 5/8-11 100—110
AIR ACTUATOR VALVE MTG. BOLTS 1/4-20 9-13
SPRAY GUARD BRACKET BOLTS 3/8-16 35-45
LOCK PIN BOX BOLTS 5/8-11 200220 ——13.25 S
AIR ASSIST CHAMBER MTG. BOLTS 7/16-14 32-38 FROM FRONT ACTUATOR
ACTUATOR AIR LINE FITTINGS 25 MAX (PREPLUMBED)
””” :
S e 5 SLIDER/ SUSPENSION WIDTH DIMENSIONS (INCHES, GROUND CLEARANCE
STINGER AR LINE BRACKET 3/8-16 35-45 o EVERGENCY BRAKE I-BEAM (INCHES) AXLE | SLIDER LENGTH DIMENSIONS
CENTERS A B C D E F M N W TO CALC“U\:ATE GROUND CLEARANCE,
AIR TANK BRACKET BOLTS 3/8-16 35-45 SERVICE LINE SPACING P S U SUBTRACT “Z” FROM LOADED TIRE RADIUS.
" nzn
AIR ASSIST CHAMBER JAM NUT 1/2-13 20-30 37 71.5 |35.00 [46.50 | 36.61 [36.25|31.63 |45.50 |26.63 |43.13 49" 10201 900 | 4901 380 RIDE HEIGHT Z
" 6.5 9.75
W 3 71.5 |35.00 [46.50 | 37.61|37.25|32.63 |46.50 |27.63 |44.13 60" 114011020 | 6001 390 & o
SUPPLY LINE FROM 43" 77.5 |41.00 [52.50 | 42.61[42.25|37.63 |51.50 | 32.63 |49.13 " 80 9.88
I-BEAM CENTERS PRESSURE PROTECTION VALVE 7 1260|1140 | 720 | 390 o0 1004
44" 77.5 |41.00 [52.50 | 43.61|43.25|38.63 |52.50 | 33.63 |50.13 20 P
D w/srms PLUMBING DETAIL
OVERALL SLIDER LENGTH
E W/0 SHIMS Lt )
- \ [* T — 6.00 P LOCK PIN SPACING
$1.63 TYP.
( N [ \ [ (PN DIA) <h rT(3) J
i ! : (P.3)
j‘ D 6.06 ., ®-- !
/ ) by T 2.00
/ [% re - Jounce | !
l L BN A A s ™ U I A A o 7~~~ U I N B.C. RIDE HEGHT R
L o T Ic] | !
(T, i, b e
oy ) O
°©Pss5e - I I (P.3) f
8% >5 3 2.75 —
o5coslxwad REBOUND Z° AT
o2 0cT g C 3 g +.38 RIDE HEIGHT
a590= oo @ AXLE ALIGNMENT L
o ©5 L o
aeewccT "
c g n cC
o O X N © ] .
<5 £ _oco N N B NN NN
g $=°538 (47.34)
pE=T 2 CENTER TO CENTER S :
© O (0]
£65ccgc?@ FRAME BRACKETS L_PORTS MUST BE ORIENTED INWARD
O E % O — © 45
ESZccT =
f=u 525 9 ¢
T c2e < INSIDE TO INSIDE OF TIRES (MIN.
£ 5855858 (N
S g ° 5= A
L grLeoa P
0 ﬁ C 4~ 0 © > 6 <A><LE TRACK WHDTH) *DWG PART NUMBER REVISION MUST MATCH REVISION OF DOCUMENT DWG D72757;t 14 PRODUCT‘ON
E 50 o o © 5 - - TOLERANCES ARE " IDWENSIONS ARer [ L] 220 L AW 0205 19 NS e | 410-03 Tes=ro00 | 0 ors
© [, o . fran] .In @]@S[ﬂ}ﬂ : g —710— .725=1.
c - a H ;*‘ I Xt .7 13| 23851 | UW| 01/28/15 e e
62528583 CHHENDRI e A g e [ [ael i |00 b g | ames | AAZL INSTALLATION DRAWING
T2 000w TRAILER COMMERCIAL VEHICLE SYSTEMS _ANGULAR: + 057 | e roecnon | 11| T80 OV ) 91710 Fieeo o THESS | revomorson TANDEM SLIDER D—-27874
2070 INDUSTRIAL PLACE S.E,  CANTON, OH  44707-2600 USA. DIMENSIONS ADHERE TO ANS| Y14.5M—1982|REV.|ECN NO.| BY DATE .

1. SPRAY GUARD MOUNTING ANGLE KIT:
P/N S—22428-2 (37" & 38" |-BEAM CENTERS)
P/N S—22428-8 (43" & 44” |-BEAM CENTERS)

2. AIR TANK MOUNTING BRACKET KITS: (SEE PAGE 2)
P/N S—27742—1 FOR 1488 CU. IN. OR 2800 CU. IN. TANK, (37" & 38” |-BEAM CENTERS)




— ~— 6.00

37"& 38" SLIDER 43"& 44" SLIDER T e
] o STINGER INSTALLATION

10.01 9.65
s, 1%
((3.38) T = = !
o}
o}
I LM (6.61)
(5.38) ? i ©
| i . | 1@ .\
HEAD OF BOLT MUST BE
/ e} INSIDE CROSSMEMBER AS
?9.75 (1488 CU. IN. TANK) <HOWN.
$12.25 (2800 CU. IN. TANK)/
®
T =
* (23.75) l

AIR TANK MOUNTING NOTES:

1. FOR TRAILER WIDTHS OF 377 OR 38" USE TANK BRACKET KIT S—27742—1. (NOTE SHORT BRACKET)
FOR TRAILER WIDTHS OF 43" OR 44” USE TANK BRACKET KIT S—=27742-2. (NOTE LONG BRACKET) 4.74 —= -
(BOTH —1 AND —2 KITS WILL WORK FOR EITHER 1488 CU. IN. OR 2800 CU. IN. TANKS)

2. KITS ARE DESIGNED FOR 27.50” MTG. CENTERS FOR A 1488 CU. IN. TANK AND

29.50" MTG. CENTERS FOR A 2800 CU. IN. TANK. AIR LINE BRACKET MUST

BE INSTALLED IN THE DOWNWARD
DIRECTION AS SHOWN TO PROVIDE

3. THE 1488 CU. IN. TANK IS SHOWN ABOVE WITH RESPECT TO CLEARANCE FOR FORWARD TRAVEL STOP.

TRAILER WIDTHS. OTHER HOLES PROVIDED IN THE BRACKETS WILL ACCOMMODATE
THE USE OF A 2800 CU. IN. TANK BUT GRAPHICALLY WILL LOOK DIFFERENT THAN ABOVE.

4. WITH TANK MOUNTED TO THE FRONT OF THE SLIDER BOX, A MINIMUM OF 52”7 AXLE SPACING IS REQUIRED
WHEN BUTTED UP AGAINST THE REAR OF A STATIONARY (HENDRICKSON AAL) SUSPENSION.

5. WHEN 607 AND 72”7 TANDEM SPREADS ARE USED, AIR TANK MAY BE MOUNTED TO REAR SET OF HANGERS. $9.75 (1488 CU. IN. TANK) — - 183 TYP. /\fBEAM WES (REF)
- ~

HOLE REINFORCEMENT

PLATE FOR |-BEAM WEB.
DESIGN OPTIONAL

(SHOWN 3.50 WIDE)

MAY BE INBOARD OR OUTBOARD

$12.25 (2800 CU. IN. TANK)

AR TANK INSTALLATION (

(OUTBOARD SHOWN).
This Print remains the property of
Hendrickson. All information contained ;
thereon is confidential. It is loaned, J *
subject to return on demand and on %qug 6.00
express condition that it is not to be ' TrP. FULL RADIUS
copied or used directly or indirectly TYP.
for any purpose other than the pur— I=BEAM FLANGE (REF) M
pose for which it has been loaned to TRAILER FRAME REQU}[REMENTS SCALE: .25=1.00
you. RECOMMENDED |-BEAM POSITIONING HOLE DESIGN
O ————— a I —————— a

NOTE: HORIZONTAL DIMENSIONS MUST BE MAINTAINED AS SHOWN.
VERTICAL DIMENSIONS SHOWN ARE OPTIONAL, BUT ARE RECOMMENDED
FOR THE FOLLOWING REASONS:
A) ALLOWS HOLE POSITION ON WEB TO BE IDENTICAL
FOR ANY FLANGE THICKNESS FROM 3/8” TO 3/47.
B) ALLOWS DIRECT CONTACT BETWEEN |—BEAM FLANGE AND BOTTOM
SIDE OF OUTER LOCK PIN CAGES WHEN TRAILER IS LIFTED BY FRAME.

PIN CAGE PLACEMENT

. - F — -—-—D .
NOTE: (SEE P.1) 060 MIN
1. PIN CAGES HAVE A THICK SPACER PLATE AND A THIN SPACER PLATE: : CLEARANCE PER SIDE
THE THICK SPACER PLATE MUST BE DOWN WHEN BOTTOM FLANGE OF
TRAILER |-BEAM IS .500 THK. OR LESS. NBOARD HOLE 060 MIN. OUTBOARD HOLE
THE THIN SPACER PLATE MUST BE DOWN WHEN BOTTOM FLANGE OF REINFORCEMENT CLEARANCE PER SIDE REINFORCEMENT SEE VIEW 7
TRAILER |—BEAM IS GREATER THAN .500 THK. BUT DOES T T
NOT EXCEED .750 THK. 6.250 MIN. —{SH\M 6.250 MIN. | ==
i CLEARANCE | CLEARANCE (T = ot ——
2. IF NEEDED AND PIN CAGES NEED FLIPPED. 7@% ﬁ REQLIRED 7@@ i - REGUIRED \ =
WHEN GOING FROM ONE THICKNESS TO THE OTHER, THE FRONT PIN i 5 81n s 0810
CAGE IS FLIP AND MOVED TO THE REAR PIN CAGE LOCATION. | g 1 | |
1 1] e — |
1 1 I H
THE REAR PIN CAGE IS FLIPPED AND MOVED TO THE FRONT PIN CAGE L'375 VIN. L.375 VIN ! J | |
LOCATION. 750 MAX 750 MAX U
THICK SPACER PLATE | 400 MIN. |_ : : | 400 MIN. | : :
Y 200 MAX. 500 WAX. FORWARD TRAVEL STOP AT
REAR TRAVEL STOP AT
‘ FRONT VIEW FRONT VIEW FRONT OF SLIDER TRAVEL RANGE REAR OF SLIDER TRAVEL
DESIGN OPTIONAL
INBOARD HOLE REINFORCEMENTS OUTBOARD HOLE REINFORCEMENTS ( ) RANGE (DESIGN OPTIONAL)
SCALE: .25=1.00 SCALE: .25=1.00
ORDER SLIDER WITH NO_SHIMS ORDER SLIDER WITH SHIMS
ON OUTER LOCK PIN CAGES. ON OUTER LOCK PIN CAGES. T P
PART NO. | * REV
DWG D-27874 14 PRODUCT‘ON
""’Tﬁ['Eg%gg'géQEQEERW’@%WN%EET%N’S"KR’EJ 4] J2207 | LW 020579 | DAY K. GALIGHER 4—10-03 5?55 1.000 . 0 PZABEOF 3
[T | IHW END e Wones | 13| 23851 | aw] 01728015 | - —o I;RAW\NGi‘
v GHHENDRIGKSON Bt e [Elm e 7 o o s | wamer | AAZL INSTALLATION DRAWING
ANGULAR: = 0.5 70 ot prosecon | 17| 18838 | QLA | 5—17-70 Fieen ar: PROPERTY OF —
THIN SPACER PLATE IoSflanEffmfgﬂysEfc‘%OXEQ‘%Efeffmu@f DIMENSIONS ADHERE 7O ANSI Y14.5M—1982|REV.|ECN NO.| BY |  DATE T.HESS HENDRICKSON TANDEM SLIDER D—27874




DIMENSION FROM PAGE 1
* BOX WEIGHT INCLUDES: SLIDER BOX WELDMENT WITH FRAME
RIDE <3 <3 BUMPER <4 <4 o SUSPENSION WEIGHT BRACKETS, LOCK PINS AND ALL PIN PULL COMPONENTS (INCLUDING
HEIGHT| |ouncE | REBOUND| CONTACT | T H X J R (LB) ACTUATOR VALVE, FITTINGS, ETC.) AND NO SHIMS (FOR TRAILERS WITH
- o - = =5 25 52 27 o ST INTERNAL WEB REINFORCEMENT AT LOCK PIN HOLES).
/.5 3.3 3.5 2.9 38 | 45 193] 4.2 11.0 532.98 *% SUSPENSION WEIGHT INCLUDES: BEAMS, BUSHINGS, AXLE WRAPS,
8.0 3.8 5.2 3.4 38 | 45 192 ] 4.2 13.2 532.98 PIVOT CONNECTION COMPONENTS, AIR SPRING COMPONENTS AND
9.0 4.8 4.2 4.4 33 | 45 | 190 ] 4.2 13.2 532.98 SHOCK ABSORBER COMPONENTS. WEIGHT IS TOTAL FOR TWO
12.0 572 4.8 4.9 38 | 80 | 19.1| 6.8 16.8 542.98 SUSPENSIONS.
w6 AXLE WEIGHT INCLUDES: AXLE TUBE, SPINDLES, SPIDERS,
STANDARD 16.5”7 X 77 BRAKE COMPONENTS, AND AXLE NUT KIT
" AXLE WEIGHT (LB) (BRAKE CHAMBERS AND SLACK ADJUSTERS NOT INCLUDED).
AXLE WALL STANDARD WEIGHT IS TOTAL FOR TWO AXLES.
I-BEAM CENTERS| 37" & 387437 & 44”
SPINDLE | HN | 49953 | 514 .99 w0k OPTION WEIGHT TABLE IS NOT ALL—INCLUSIVE: MANY ADDITIONAL
TYPE HP | 518.09 | 533.63 OPTIONS ARE AVAILABLE. CONTACT HENDRICKSON ENGINEERING FOR
WEIGHTS OF OPTIONS NOT LISTED IN CHART.
*SLIDER BOX WEIGHT (LB) **** OPTION WEIGHT ADDITION (LB)
49" TANDEM 60" TANDEM 72" TANDEM I-BEAM CENTERS
OPTIONAL COMPONENT 37" & 38"| 43" & 44"
RIDE I-BEAM CENTERS I-BEAM CENTERS I-BEAM CENTERS e on o
HE@C;HT 37 38 43 44 37 38 43 44 37 38 43 44 (FOR EXTERNAL WEB HOLE REINFORCEMENT) 5.72
o 16.5” X 77 HXS BRAKES 8.08
S0 1587.30|591.10|610.27| 614.09||620.82 | 624.62 | 643.79| 647.61|[654.36 | 658.16 | 677.33| 681.15 16.5” X 8.625” HXS BRAKES 31.20
00 EXTENDED SERVICE /HIGH—DAMPING SHOCKS 4.00
120 |613.74|617.54]636.711640.53|1647.26|651.06|670.23|674.05]|680.80|684.60]703.77| 707.59 LOW—PRESSURE AIR SPRINGS 2.40
SEALED CLAMP—ON DUST SHIELDS 29 .48
— SHOCK STRAPS ;9633
1. TO OBTAIN TOTAL SYSTEM WEIGHT, ADD ONE ITEM EACH FROM SLIDER BOX, HALDEX BRAKE CHAMBERS (STD. STROKE) 86‘72
SUSPENSION & AXLE WEIGHT TABLES. PLUS ALL APPLICABLE OPTION WEIGHTS iitgg EE?EE Eimgiji (LONC_STROKE) :
FROM OPTION WEIGHT TABLE. (LONG STROKE, EXTENDED WARRANTY) 87.04
JOUNCE AND REBOUND DIMENSIONS CHANGE AS THE RIDE HEIGHT CHANGES AKH—235-3 HCV KIT (BOLTED LINK) 2.86
FROM THE NOMINAL POSITION. STINGER KIT (23.75” LG) 10.02
DIMENSIONS "J” & "R” WILL REMAIN CONSTANT REGARDLESS OF RIDE HEIGHT MUD FLAP MTG. ANGLE KIT 53301 25 30
VARIATION FROMENOMINAL - POSTTHION. AIR TANK BRACKET KIT (2800 C.I. TANK) T
T ot e e propers o AIR TANK BRACKET KIT (1488 C.I. TANK)
O g, coranee ;
subject to return on demand and on ]
express condition that it is not to be Dv]vPGAlgfzil\;%r *}?]i\] PRODUCTION

copied or used directly or indirectly

for an urpose other than the pur—
awis i GIHENDRIEKSON

pose for which it has been loaned to
you. TRAILER COMMERCIAL VEHICLE SYSTEMS
2070 WDUSTRAT PLACE SE.. ~ CAVION, G 447072600 USA

5—19 | DRANN BY

K.GALIGHER

S8
2 I

AAZL INSTALLATION DRAWING W;Wifi"“"‘ o |Fors
TANDEM SLIDER D—27874

Q
O
o IIN
EINR
EIRMN

7] oo e s
5/01/03 P BILLMAN | e o
70 [hero Be:

T.HESS




